
"��U� 2

��P�O  
O ����  #�$��TU���

2.1 ������
��U� 1  ���7C�3��$��"�������6	��I ��?����	
������������	
����
������ ����
���&J2�I ��
��6�?�6���:����$�<�$����� 	�����	
��

��P�O
1) 6������	��

                    	�����	
��=����A%����� �$2�� 250x300 ���2������ :%���� 42 ��� I�� 12 ��� ���
6%����"���7C�3��$��"�������$���I ��?�&�I��&	�6� #	$�$�$��	��������?���2�$62������
��$�5�����2�����
������ 6����?���	
� 20 ��� 6%����"���7C�3��$��" pH ����$�<�$�����
#	$ 10 ��� �<
����������%���$�<�$�����2�6������&J2�I ��
��6 JC��<��85� 	���	��=���5����
��	��&����"���2��5����$��:��79����
:��#	$<�;�� �$2��A%�:
�6�=	�  ��2 �$2�

2) ����5�
"�����
2.1) ���������	
��6����A%�2��
2.2)  �2	K�������	
���
"
2.3)  �2	K�������	
���?����������2�?��5���92
 100 ��7��J	�J?�6 � B���	� 30 ���?
2.4)   	� '� (�5���"�52)

3) ���
���#���
         3.1)  & � �=��� 0.5,1.0, 5.0 #	$ 10 2
		
	
��
         3.2)  �	����	��=��� 25 2
		
	
��
         3.3)  "?������=��� 250, 500 #	$1,000 2
		
	
��
         3.4)  =���9 �2<9�=��� 250 2
		
	
��
4) ��6�56%����"6��� #	$��K"���&J2� &��#�� =����K"���&J2�=��� 60 2
		
	
�� :%���� 2 =��

#	$���=��"��
5) 6����2?



5.1)  6����2?6%����"6������&J2� #	$ �
����$���
:���2=�����&J2� &��#��           
&�I���	�&���   &�	J?�   ���&���	�I��$J
�
� (Trichloroacetic acid,TCA)  6��	$	��
�?�����	�#���C��A%�  (Tween 80)  �?I2I�	"
�  &�I���:���	�  &�I�J?�

5.2) 6����2?6%����"7C�3��$��"�������I ��?�I��������&J2�6���:����$�<�$
����� 	�����	
�� #	$6%����"�
����$������ �$��"�����2?=������5�
"�����          ���
���� �

5.3)  ��6	" (2 - phenoxyethanol)
6) ��6�5�
�� � &��#�� �5�<	�6�
�6%����"�6�������������5�
"   �������6��


O ����
1) �5 ����6%����"6������&J2� #	$�
����$���
:���2=�����&J2�

1.1)  ���
���"��62 =�� National �5�� MX x T2GN
   1.2)  ���
���6� �I��I{I�2
�����=�� Shimadzu �5�� UV 1700
   1.3)  ���
����25����?�����"�52�5���92
=�� Heraeus  �5�� Premo R
   1.4)  �����A%���"�52�5���92
=�� Heto �5�� HMT 100
   1.5)  �5 ������� pH &��#�����
��� pH meter =�� HACH �5�� Sension 378
   1.6)  &2I��& � �
   1.7)  ���
������6��	$	�� =�� CAT �5�� M6

2) �5 �����
����$������ �$��"�����2?=������5�
"
2.1)  �5 �����
����$�����2�
A�&��#��������$�"
A����	
�" (crucible) �9��" (hot  air  oven) 

=�� Memmert I��"#��� (desiccator) ���
�������&{{�� 4 �%�#����
2.2)  �5 �����
����$��I ��?� &��#�� ���
������� (digestion apparatus) =��  Gerhardt �5��

Kjeldatherm ���
����	��� (distillation apparatus) =��  Gerhardt  �5�� Vapodest Ι �	������
I ��?� (digestion  tube) ��$"�����  "?������  "
����  =���9 �2<9�  ���
�������&{{��  4
�%�#����

2.3) �5 �����
����$������  &��#��  ������$�"
A����	
�" (crucible) ������ (muffle
furnace) =�� Gallenkamp I��"#��� (desiccator) ���
�������&{{�� 4 �%�#����

2.4) �5 �����
����$��&=2�� &��#�� �5����
���2
��
����$��&=2���5�� Soxtec  System  
HT6 &6�����6��  ����6���6��  �9��"  I��"#���  ���
�������&{{��  4  �%�#����

28
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3) �5 ����6%����"������?�2����5�
"�?��%�2���6�"

3.1)  ���
���"�����5�
"=�� Retsch �5�� SK 100
3.2)  ���#��6
3.3) �$#�����������5�
"=��� 30 �2�
3.4)  �����I22
�����
3.5)  �2���C��
3.6)  �9��" (hot  air  oven) =�� Memmert
3.7)  ���
�������&{{���7�
�2  2  �%�#����=�� AND �5�� GF 3000

4) �5 ����6%����"�����6�"�$��"�������I ��?�
4.1)  ���
����=��� (Shaker) =�� Lab - Line �5�� 3521
4.2)  �9�"�2��
A� =��� Binder �5�� KB
4.3) �5 ����6%����"�
����$��I ��?� ������?����"=�� 2.2

�
8?�����	��
1. ������$��" pH ����$�S�$
����Y
� �������	
�

�����6�"�$��"�������6	��I ��?����	
������������	
����
������ ����
���&J2�I ��
��6�?�6���:����$�<�$�����=�� 	�����	
����A�2?���2:%�� B��?�:$�������"�C�
�$��" pH �?���9��������$�����������A� �<
�������������?�26��	$	��"�{�{������2?�$��" pH �?�
��2�$62���������� !
�
�
��=�����&J2����������6	��I ��?� I�������6�"�$��" pH ��
��$�<�$�����=�� 	�����	
�������A��?A����$���I ��?�&�I��&	�6�:�����
����� 	��9���
� B�6����$�5����� 	�2?���2�����
�������<
����� 	�2?����	������#	$���&J2�������������
2�:����A�:C�����$��" pH ����$�<�$�����I��������
������ pH #""&2I��I<�" (micro  probe) 
JC��2?�
8?�������?A

1.1 ����
�U�L �������	
�
�%� 	�����	
��=��� 250-300 ���2 :��79����
:��#	$<�;�� �$2��A%�:
�6�=	�

�%�����	�����I=�� :������6�=	�:%���� 32 ��� <�������&{�"���=������2:5�A%� 1,000 	
��
:%���� 2 ���� B���	� 3 ��� #	$����������� B���	� 1 ��� �<
�����7C�3��$��"I ��?�&�I��&	      
�6� #	$�$�$��	��������?���2�$62��������$�5�����2�����
������ #	$���$��" pH ��
��$�<�$��������& 
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1.2  ����
�U�L
$�
�i �
U�&ti��&��P


�%����
����� 	��9��� 2�	����%����26$��� #	$�%����6$��K��A%� #	���%�2�"����
	$��?���������
���"���
A� �%�2��62��"6��	$	��"�{�{����������6��� 1 : 1 (��� ��
6x&�I��
�	�&���"�{�{����=�2=�� 0.2 I2	���)  ��" pH ���������" 8.0 ��
2���&J2���	���	6����	$ 1.5 =��
 �
2��I ��?����������� �%���������& ����6	�� �?��5���92
 60 ��7��J	�J?�6 � B���	� 4     ����
I2� #	����"��A��������6	���?��5���92
 90 ��7��J	�J?�6 � B���	� 2 ���? �%�& �25����?����?�
���2��K� 10,000 ��"������? � B���	� 15 ���? �%��$���=�����������?���	
�:������25����?���
�62��"�A%��	���#	$��K"�6��5�<	�6�
�I<	?���8?	?�#	���%�& ��K"�?��5���92
 4 ��7��J	�J?�6 �<
��
������%�2�����������	��I������%�2���6�"��" 	�����	
���C� �$6
�8
��<�������$�5��
����
������ I�����6�����<��
���2�����"6������& 

1.3 �������$��" pH ����$�S�$
���� �������	
�
��������$��" pH ����$�<�$�����#"�����7C�3����� B� 2 =�A����&��#�� ���

6�����<��
���2=�� 	��2
��&����"�$���I ��?�&�I��&	�6��?��$��"#	$�$�$��	����� ���� 
#	$�������$��" pH =����$�<�$����� 	��	��:�� 	�&����"�$���I ��?�&�I��&	�6���
�$��"�?���2�$62 #	$���$�$��	����� � (:���	���7C�3���=�A�����?� 1) I��2?�
8?�����	�����
�?A

=�A�����?� 1 #"�������	������ B� 4 �5������	��� 	$ 3 JA%� �%������	����
�9���	��=��� 45x48x45�J��
�2�� :%���� 12 �9�"��:5�A%� 20 	
�� �%� 	�����	
��=��� 250 x
300 ���2������ �	���������� B���	� 1 ��� �6����9���	���9�	$ 1 ���  I���5��9���	��2?������
���J
�:��	����	� �	��:����A�:C��%���
������	������?A

�5������	���?� 1 (�5���"�52) &2�����$���I ��?�&�I��&	�6�	$	�����A%� �
A�
&��� B���	� 10, 20 #	$ 30 ���?

 �5������	���?� 2 �6��$���I ��?�&�I��&	�6� 200 2
		
	
�� (�$���I ��?�
&�I��&	�6� 1 2
		
	
��/ �A%�100 2
		
	
��) �
A�&��� B� ��	� 10, 20 #	$ 30 ���?

 �5������	���?� 3 �6��$���I ��?�&�I��&	�6� 400 2
		
	
�� (�$���I ��?�
&�I��&	�6� 2 2
		
	
��/ �A%� 100 2
		
	
��) �
A�&��� B���	� 10, 20 #	$ 30 ���?

�5������	���?� 4 �6��$���I ��?�&�I��&	�6� 600 2
		
	
�� (�$���I ��?�
&�I��&	�6� 3 2
		
	
��/ �A%� 100 2
		
	
��) �
A�&��� B���	� 10, 20 #	$ 30 ���?
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 6�����<��
���2�����"6���=�� 	����5��$��"�������$���I ��?�&�I��
&	�6�������$�$��	��?��%���� :�"���C�<��
���2�����"6���=�� 	��<
���%�& ��������
��	��=�A�����?� 2 ���& 

=�A�����?� 2 #"�������	������ B� 4 �5������	��� 	$ 5 JA%� �%������	����
�9���	��=�����?�������"=�A�����?� 1 :%���� 20 �9� #��	$�9�"��:5�A%� 20 	
�� �%� 	�����	
��=���
250x300 ���2������ �	���������� B���	� 1 ��� �6��9�	$ 1 ��� ������J
�:��	����	�#	$�%���
�
�����	������?A

 �5������	���?� 1 (�5���"�52) &2��6��$���I ��?�&�I��&	�6�
 �5������	���?� 2 �6��$���I ��?�&�I��&	�6��?����2�=�2=���?���2�$62 (:��

�	�����	��=�A�����?� 1) �
A�&��� B���	� 10 ���?
 �5������	���?� 3 �6��$���I ��?�&�I��&	�6��?����2�=�2=���$��"��?����"

�5������	���?� 2 �
A�&��� B���	� 20 ���?
 �5������	���?� 4 �6��$���I ��?�&�I��&	�6��?����2�=�2=���$��"��?����"

�5������	���?� 2 �
A�&��� B���	� 30 ���?
�2
����"�%������	��%� 	�2���������%�6���=����$�<�$�����2�����$��" pH 

I��������
������ pH #""&2I��I<�" :�"���C��$��" pH =���5��5������	��

2. ���P���#�$������$����k���L�
�&oL�i �
��
Pk����$�S�$
����Y
� �������	
�
2.1 ����
�U�LP���$���"�u�u
��
���?�26��	$	��&�I���	�&���-&�	J?� (HCl-glycine) ���2�=�2=�� 0.1 I2	���     

(Francisco et al.,1999) ���2?�$��" pH ������"�$��" pH �?��������7C�3� (:���	�����	��=�� 1.3) 
��
26��	$	�� Tween 80 ���2�=�2=������	$ 0.1 (�
������, 2544)

2.2 ���P����
�&oL�i �
��
Pk����$�S�$
���� �������	
�
=�A�������6������&J2����#6������<�?� 4 I���%� 	�����	
���A%�����

 �$2�� 250 x 300 ���2 :%���� 10 ��� #"������ B� 2 �5� � 	$ 5 ��� �	���������� B���	� 1 ��� 
�%�2��������#	$�%�6���=����$�<�$����� 2������A%�����<���2:�"���C� :����A��%����26$���
�����A%��	���#	���6����	92
��?�2{����� #	$�%�2�#����&�I���:���	� �$2�� 5 ���? :����A��%�
2�"��������
��� ~���62 �%���$�<�$������?�"�	$��?���62��"6��	$	��&�I���	�&���-&�	
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J?� (HCl- glycine) �?��$��" pH �?��������7C�3� I����������6�����$�<�$��������6��	$	��
&�I���	�&���-&�	J?�������" 1 : 3 (�A%�������� �
2���) �62��������#	$6��	$	������=�����
� B���	� 20 ���? �?��5���92
 4 ��7��J	�J?�6 #	���%�2������������=��"��  �%�6��	$	���?�&��& 
�25����?����?����2��K���"������" 8,500 ��"������? �?��5���92
 4 ��7��J	�J?�6 � B���	� 30 ���? 
(���# 	�:�� Francisco et al., 1999) 6��	$	��6����6�?�&���
����&J2�6��� �%�& ��K"&���?�

�5���92
 -20 ��7��J	�J?�6 �<
���%�2���6�"���
:���2���&J2�I ��
��6���& 

                                    ��$�<�$�����=�� 	�����	
��

                              �%����26$���#	$#����&�I���:���	� 5 ���? #	$"����	$��?��

�62��"6��	$	��"�{�{������$��" pH �?��������7C�3�
(�����6��� 1:3,W:V ) #	$�62� B���	� 20 ���?

                   �����������=��"��

                      �25����?����?����2��K� 8,500 x g �?��5���92
 4° C � B���	�  30 ���?

             &��6����6�?�� B����&J2�6���

��<�?� 4 =�A�������6������&J2�:����$�<�$�����=�� 	�����	
��
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2.3 ���������$����k���LY
��
�&oL�i �
��
P (� "o��)
�%����&J2��?�6���:����$�<�$�����=�� 	�#��	$JA%�2��
����$���
:���2=��

���&J2�I ��
��6 ����?A
2.3.1 ������?�2���&J2�6�����������
����$���
:���2���&J2�I ��
��6
�%����&J2� 0.1 2
		
	
��:����$�<�$����� 	�����	
�� �62��"6��	$	��"�{

�{������$��" pH �?��������7C�3� �� �
2��� 9.9 2
		
	
�� �=�������=����� #	$�%�2��:
�:���?����A�

���&���$��"���2�=�2=��������" 100 - 400 ���� ��2	%���" I�����69��

N1 V1    =  N2 V 2
N1  =  ���2�=�2=��=��6����
�2���  100  ����
V1   =   �
2���?��������:��6���?���
�2��� ( 2
		
	
�� )
N2  =  ���2�=�2=���?��������
V2  =   �
2�����2=�����&J2��?��:
�:��#	$"�{�{����?�������� (2
		
	
��)
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2.3.2 �
8?������
:���2=�����&J2�I ��
��6
�%����&J2��?�&��:������:
�:��#	���?��$��"���2�=�2=�� 100 - 400 ���� 2������	$ 

1 2
		
	
��:����A���
26��	$	��6�"6���� 1  2
		
	
�� (�?I2I�	"
�����	$ 0.5 6%����"������
:
���2���&J2�I ��
��6����$�<�$�����) �%�& "�2�������A%���"�52�5���92
 (water bath) �?�
�5���92
 28 ��7��J	�J?�6� B���	� 30 ���? ��
2 TCA 40 %  �
2�� 0.5 2
		
	
�� �<
����5�
 !
�
�
��=�����&J2���A��
A�&���?��5���92
���� 30 ���? :����A��%�& �25����?����?����2��K� 8,500 
��"������? �?��5���92
 4 ��7��J	�J?�6 � B���	� 15 ���? (���# 	�:�� Francisco et  al., 1999) 
�%�6����6& ����������$��3�����"��� 1 6����6�?� ��7:���$����%�& �������9��	
�#6��?�
���2����	
�� 275 ��I��2�� �%�����9��	
�#6��?�&��� �?�"��?�"��"���{2���4��=��&�I�J?� 
JC��=�A����������
:���2���&J2�I ��
��6 ���#6������<�?� 5

2.4 ����%����
����
:���2=�����&J2�I ��
��6 1 �9�
��2���C� ���26�2���=�����&J2��?�����

 !
�
�
���������6	��6� 6����&������$2
I����9 =��&�I�J?� 1 &2I��I2	����	� 1 ���? 
������6���$�?��%���� JC��6�2����%����&�����62������& �?A

�
:���2=�����&J2�I ��
��6 =  2
		
���2I ��?�=��&�I�J?� x ( �
2�����&J2� + 6�"6���� + TCA) x 
:%��������=��6��	$	�����&J2�
     ( �9�
����2
		
	
�� )                               �A%�����I2�	�5	=��&�I�J?�     x    �$�$��	��?�"�2      x     
 �
2���6��	$	�����&J2�

                                     ( ���2���I2	 )                       ( ���? )                             ( 
2
		
	
�� )
����
:���2:%��<�$=�����&J2�  (�9�
����2
		
���2)  =        ����
:���2=�����&J2�I ��
��6 (�9�
�
���2
		
	
��)

                                                                     ���2�=�2=��=��I ��?� (2
		
���2���
2
		
	
��)



���&J2� �
2��� 1 2
		
	
���?��:
�:�� (100 - 400 ����)

                             6�"6����
                                                  (�=�������=�����)

 "�2�?��5���92
 28 ��7��J	�J?�6
                              15 ���?��  water  bath

                               ��
2TCA (40% )�<
����5� !
�
�
��=�����&J2��	��	$ 0.5 2
		
	
��

    ��A��
A�&���?��5���92
����  30  ���?

�25����?����?����2��K�   8,500 x g

           15 ���?
     &��6����6�%�& �������9��	
�#6� 275 ��I��2��

��<�?� 5 =�A�������������
:���2=�����&J2�I ��
��6
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3. ����
�U�L���
������������	
�P%����"�����P
"�����
�����
����
�
�	
������������	
���?������6�"&��#�� �2	K�������	
���?����������2�?��5���92
 100 

��7��J	�J?�6� B���	� 30 ���?   ���������	
��6����A%�2��  #	$�2	K�������	
���
"  I��2? 	� '�
� B��5���"�52 ���?�2����5�
"#��	$��
�6%����"�����6�"����?A

3.1 "�����5�
"#��	$��
����	$��?����������� 2 ���A� #	���%�2����������$#���
=��������2�?� 30 �2� �������2	K�������	
���?����������2�?��5���92
 100 ��7��J	�J?�6 � B���	� 
30 ���?����������$"������"�?��5���92
 60 ��7��J	�J?�6 �2
��#���#	��:C��%�2�"����	$��?��
#	$�����<
�����6
�� 	�2 ����� �73�
�  ���� #	$� 	
���������& 

 3.2 �
����$������ �$��"�����2?=������5�
"#��	$��
�&��#�� I ��?�   ���2�
A� 
&=2��  ���� #	$��
������2�
8?2���4��=�� AOAC (1985) 6%����" NFE (Nitrogen Free Extract)��
&��:������%������269��

 NFE (%)= 100 x (%���2�
A� + %I ��?� + %&=2�� + %���� + %��
����)
 �%�����5�
"#��	$��
�"��:5���5�<	�6�
�#	����K"�?��5���92
 4 ��7��J	�J?�6 �<
�������

�%�& ����������6�"�$��"�������6	��I ��?����& 

4. �����6�"�$��"�������6	��I ��?�������5�
"
4.1 ������#�����7C�3�
���#�������	��#""65�2�	�� (Completely Randomized Design, CRD) I��2?

�5������	����A�6
A� 4 �5������	�� � 	$ 2 JA%� (���&J2� 2 ��������) ������������5�
"�?��������
��6�"&��#��  	� '� (�5���"�52) �2	K�������	
���?����������2�?��5���92
 100 ��7��J	�J?�6 � B�
��	� 30 ���?   ���������	
��6����A%�2��  #	$�2	K�������	
���
"

4.2 �����6�"�$��"�������6	��I ��?�
�%�����5�
"�?����������6�"2������A%��������&���A%�����I ��?�������" 1.3 ���2 �%�

���������62��"6��	$	��"�{�{����?��$��" pH 3.0 �������6�������5�
"���"�{�{���������" 1 : 3    
(W/V) ��=���9 �2<9�=��� 250 2
		
	
�� I������5�
"#��	$��
�#"������ B� 2 �5� (�5�	$ 3 JA%�) 
�5��?� 1 &2���
2���&J2� #	$�5��?� 2 ��
2���&J2� �
2��� 1 2
		
	
�� :����A��%���������& "�2�?�
�5���92
 28 ��7��J	�J?�6<���2�=����?����2��K� 100 ��"������? I������$�$��	������"�2 12 ����
I2� I���<���� (2543) <"����2
����������#�� 	�����	
��#	�������:$�9���������$�<�$
�����������
����2��C�	%�&6�:$�����	� �$2�� 12 ����I2� �	��:��"�2�6�K:#	���%���������2�
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��5� !
�
�
��=�����&J2�I�������
2 TCA 40 %  �
2�� 0.5 2
		
	
�� ��A��
A�&��� B���	� 30 ���? 
:����A�:C�������$��"�������6	��I ��?� I��=�A�������7C�3����#6������<�?� 6

                        ��
2���&J2�6���

                                       "�2�?��5���92
 28 ��7��J	�J?�6<���2�=���

12  ����I2�
    ��5� !
�
�
��=�����&J2�I�������
2 TCA 40 % (0.5 2
		
	
��)

                             �
����$�� �
2��I ��?��<
��������$��"�������6	��I ��?�

��<�?� 6   �����6�"�$��"�������6	��I ��?�������5�
"�?�� B�#�	��I ��?�I��������&J2�6���
:����$�<�$����� 	�����	
��

4.3 ���������$��"�������6	��I ��?�������5�
"I�����&J2�6���
�%�����5�
"#��	$��
��?�������$"���������6	��I ��?���A��?�&2���
2���&J2�#	$

��
2���&J2� 2��� �
2��I ��?��?���	
� #	$�$��"�������I ��?� ��2�
8?�?����# 	�:�� AOAC 
(1999) I���%����������?�"�2#	������������$��3�����"��� 1 (�73��	
�������=������$J
I��
	������������������2�:�&2���	
�����������9���=��) :����A��%���������"���$��3����& �%�
���#���I���
8?����9����2�
A��������
����9����2�
A�#""69>>���7 (suction) �2
����������#���#	��
:C��%�& �
����$�� �
2��I ��?���2�
8?���=�� AOAC (1999) �<
���� �
2��I ��?��?���	
� 
� ����JK���I ��?��?���	
�  � ����JK���I ��?��?�	$	���A%�#	$�$��"�������I ��?�I�����69������?A

�� !"#$%  + %�'(')*+
()� *,-.�/ 1 : 3) (w/v)
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 �
2��I ��?��?���	
�    =               1.4 x (V1 x V2 ) x N x 6.25
                      W

�2
��  V1  =   �
2���=�����2���4���?����&�������������
       V2   =   �
2���=�����2���4���?����&��������������?�������:6�"
       N   =  � B����2�=�2=��=�������	
�� B�����2�	
       W   =  �A%�����������������5�
" (���2)

 � ����JK���I ��?��?���	
�
=          �
2��I ��?��?���	
�  x 100
        I ��?�������5�
"�2
����
�2���

 � ����JK���I ��?��?�	$	���A%�
=  100 x � ����JK���I ��?��?���	
����5���"�52�?�&2���
2���&J2�

 �$��"�������I ��?�I�����&J2� (%)
 =  (� ����JK���I ��?��?���	
����5���"�52�?�&2���
2���&J2�) - (� ����JK���I ��?��?���	
�

���5��?���
2���&J2�)

5. ���������$�����P��
�
�%��	�����6�"�$��"�������I ��?�:������5�
" 2��
����$���	���6�
�
 I��

��� Analysis of Variance #	$�
����$�����2#�������$������5������	��I����� Tukey,s  HSD �?�
�$��"���2��
��2�������	$ 95

2.2 �����	���?� 2 ���7C�3�����%��	
������������	
��� B�#�	��I ��?���#�� 	� '��?��$��"
�����  ������� 	�����	
��

 ��6�5
1) 6������	��

 	�����	
�� =����A%����� �$2�� 0.7 ���2������ :��79����
:��#	$<�;��
 �$2��A%�:
�6�=	�  ��2 �$2�

2) ����5�
"6%����"�	
��������	�������������?� 7
3) ���
���#���6%����"�
����$���5���<�A%� &��#��  =����K"���������A%�   & � �=��� 1 #	$ 2 

2
		
	
��  =���9 �2<9�=��� 250 2
		
	
��  "?������
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4) 6����2?
6����2?6%����"�
����$������ �$��"�����2?=������5�
"�������	��#	$6���

 �$��"�����2?=�� 	�  �
����$���5���<�A%�  �
����$��I��2
����&J�� ������������ � #	$ 
6����2?6%����"������3�I�� 	�&��#�� {���2�	
� (formalin) #	$����	
��

5) �5�<	�6�
� #	$�	���6%����"�6��������	��

O ����

1) �5 ����6%����"������?�2�������	��
1.1)  ���
����62#	$����2K������ =�� Hobart  Model  A 200 T  �$��"�����5����
���

�62�����#""2?�"<�� #	$�5����
�������2K������
1.2)  �$#�����������5�
"=��� 30 �2�
1.3)  ���
�������&{{���7�
�2 2 �%�#���� =�� Sartorius   �5�� Basic
1.4)  �9��" (hot  air  oven) =��  Memmert
1.5)  ���
����C�������
A�������#����� =�� Sturdy �5�� SA 300 VL
1.6)  �9�#��#=K� �<
�������K"�������	���$�����������%�2����

2)  �5 �����
����$������ �$��"�����2?=���������	�� #	$J�� 	� ������?����"���
��	���?� 1

3)  �5 ����6%����"����	?A�� 	�
3.1)  ���&{�"����	�6=������2:5 1 	9�"�7���2�� :%���� 2 �"
3.2)  �9���	��=��� 40x60x50 �J��
�2�����2:5�A%� �$2�� 128 	
��
3.3)  �$""�A%�&�	 #	$�$""�A%��
A�I���������A%�	��� B������"�52�$��"�A%�
3.4)  6������9��$��� #	$� 	?��������A%�
3.5)  6�
�6%����"��� 	�
3.6)  �5 ������K"29	 	� &��#�� 6�����  ���=��"��

4)  �5 ����6%����"����
����$���5���<�A%�
4.1)  �5 ������� pH &��#�����
���  pH meter =�� HACH �5�� Sension 378
4.2)  �5 ��������5���92
�A%� &��#�� �����I22
�����
4.3)  �5 �����
����$�� �
2�����J
�:��?�	$	���A%� (dissolved oxygen, DO) &��#��

���
��� DO meter =�� HACH �5�� Sension 378
4.4)  �5 ����6%����"�
����$�����#�2I2��?�  &�&����  &����� &��#�� ���
���6� �I��

I{I�2
����� =�� Shimadzu  �5�� UV 1700
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5)  �5 ����6%����"����
����$��I��2
����&J���������#	$29	 	�
   5.1)  �5 �����
����$��I ��?� ������?����"�����	���?� 1 (=�� 2.2)
   5.2)  ���
���6� �I��I{I�2
����� =�� Shimadzu  �5�� UV-1200

��TU������
�
1. ������#��������
�

:�������	��#"" 2 x 7 #{�����?�	 ��#�������	��#""65�2�	�� (CRD) 
:%���� 3 JA%� I�� ~::�� A �
���
��	
������������	
�� 2 ��
� :���	�����	���?� 1 �?�2?����$��"
�������I ��?�69������" 1 (a0) #	$ 2 (a1) ��2	%���" #	$  ~::�� B �
��$��"�������	
����������
��	
��� B�#�	��I ��?���#��I ��?�:�� 	� '���69�������  7 �$��" �
� 0 (b0), 10 (b1), 20 
(b2), 30 (b3), 40 (b4), 50 (b5) #	$ 60 (b6) � ����JK���=��I ��?��� 	� '� I��2?��A��2�         14 
�5������	������?A

T1 = a0 b0 T8   = a1 b0
T2  = a0 b1 T9    = a1 b1
T3  = a0 b2 T10  = a1 b2
T4  = a0 b3 T11  = a1 b3
T5  = a0 b4 T12  = a1 b4
T6  = a0 b5 T13  = a1 b5
T7  = a0 b6 T14  = a1 b6

�2
�� T= �5������	��
      a0  = �	
������������	
���?�2?����$��"�������I ��?�69������"�?� 1
      a1  = �	
������������	
���?�2?����$��"�������I ��?�69������"�?� 2
      b0  =  �����#���?� 0 � ����JK���=��I ��?�:�� 	� '�
      b1  =  �����#���?� 10 � ����JK���=��I ��?�:�� 	� '�
      b2  =  �����#���?� 20 � ����JK���=��I ��?�:�� 	� '�
      b3  =  �����#���?� 30 � ����JK���=��I ��?�:�� 	� '�
      b4  =  �����#���?� 40 � ����JK���=��I ��?�:�� 	� '�
      b5  =  �����#���?� 50 � ����JK���=��I ��?�:�� 	� '�
      b6  =  �����#���?� 60 � ����JK���=��I ��?�:�� 	� '�
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2. ����
�U�L������
�
2.1 ������?�2 	�
�%�	9� 	�����	
��=������2��� 2.5 �J��
�2�� �A%������@	?�� �$2�� 0.7 ���2

2���5"�	�����&{�"����	�6=������2:5 1 ��� :%���� 2 �" I�� 	��� 	�:%���� 1,000 ������
��� �	?A�����A%�:
� #	$������J
�:��	����	� I������������6%���K:�9  ���	$ 2 2
A� (���� x ��K�) 
� B���	� �$2�� 3 6� ���� :����A��2
��	9� 	�2?=���I�=CA�:C����� � � 	?���2����������2K�
6%���K:�9 �?�2?�$��"I ��?� 35 � ����JK��� ���	$ 2 2
A� �<
�������� 	��
���"������2K�6%���K:�9  #	$
2?���� 	?��������A%��5���� � 	$ 1 ���A� �2
��	9� 	�2?=��� �$2�� 3-4 ���2/��� :C����	9� 	��?�2?
=�����	���?�����:%���� 25 ��� 2��6��9���	���?�2?���2:5 �$2�� 80 	
�� :%���� 42 �9� #	����
�2���
��� 	��5�������"6��<#��	��2 #	$�������	�� I�������������	$ 2 2
A� :� 	��
�2 �	?A��:�
��$���� 	���2��"������5��5������	��� B���	� �$2�� 7 ��� :����A�:C���� 	��?�2?�A%�����
��	���?����������	
� :%���� 12 �������9� I�������A%����� 	��5���� ��������6	" 	����� 2-
phenoxyethanol ���2�=�2=�� 0.5 2
		
	
������A%� 1 	
�� #	$��K"�������� 	�:%���� 30 ��� �<
���%�
2��
����$������ �$��"�����2?=�� 	��2
����
�2��������	�� ��2�
8?���=�� AOAC (1985)

2.2 ������?�2�������	��
I���%��	
������������	
���?�2?�$��"�������I ��?�69������"�?� 1 #	$ 2 :�����

��	���?� 1 2�#���?� 	� '���������?��$��"���� � ��2#�������	����=�� 1 (�����	���?� 2)
I��2?�������	����A��2� 14 69�� 2?�$��"I ��?�������" 35 � ����JK��� &=2�� 10 � ����JK��� #	$
<	�������2 �$2�� 410 #�	��?�������� 100 ���2��������5�69�� I�������69����"�522? 	�
 '�� B�#�	��I ��?��	�� ���� �$��"=�������69����"�52 #	$�������	�� ���#6������
����?� 7 ���?�2�����I������ #	$"��:5����5�
"�����#��	$��
�=��#��	$69�����5�<	�6�
�I<	?
���8?	?� �%�����5�
"�����=��#��	$69���62����=������������
����62����� ����2K�������?�=���
�6�����79����	�� 2 2
		
�2�� �%����#���I������"�?��5���92
 �$2�� 60 ��7��J	�J?�6  �$2�� 
4 ����I2� :����A��%������& "��:5���5�<	�6�
�I<	?���8?	?�#	$��K"���5��%��<
�� ������#6� �%�
& ��K"���3��?��5���92
 4 ��7��J	�J?�6�<
�������������  �%�������5�69���
����$������ �$��"
�����2? ��2�
8?���=�� AOAC (1985) #	$�� �
2��I��2
����&J�� ��2�
8?���=�� Furukawa 
#	$ Tsukahara (1966)
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   ������?� 7 ���� �$��"=���������	�� (% as fed basis)

��6�5����� 69������� (���2 / ����� 1 �
I	���2)
1 #	$ 8 2 3 4 5 6 7 9 10 11 12 13 14
522 470 417 365 315 260 207 470 417 365 315 260 207
0 76 155 230 310 385 465 0 0 0 0 0 0
0 0 0 0 0 0 0 86 173 260 347 434.3 522
53 53 53 53 53 53 53 53 53 53 53 53 53
232 215 197 182 160 147 123 200 177 145 113 80 48
34 28 22 16 10 4 0 39 40 45 50 55 60
10 10 10 10 10 10 10 10 10 10 10 10 10
20 20 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 20 20 20 20 20
0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
103.8 102.8 100.8 98.8 96.8 95.8 96.8 96.8 84.8 76.8 69.8 62.5 54.8

 	� '� (I ��?� 65.49%)
������	
����2 (I ��?� 44.56%)
���������	
��6����A%�2�� (I ��?� 39.62%)
�%�
# ��=����:��
�A%�2��������	
��
�
��2
���21

#��8��5��22

# ��2��
BHT
#�	"
I��2
����&J�� 5 5 5 5 5 5 5 5 5 5 5 5 5



1�
��2
���2 (2
		
���2/����� 1 �
I	���2)  �$��"���� Thiamine (B1) 10 ; Riboflavin (B2) 20; Pyridoxine (B6) 10; Cobalamin (B12) 2; Retinal (A) 4; 
Cholecalciferol (D3) 0.4; Phylloquinone (K1) 80; Folic  acid 5; Calcium  pantothenate 40; Inositol 400 ; Niacin 150; Tocopherol (E) 60; Choline 6000; 
Ascorbic  acid (C) 500

2#��8��5��2 (���2/����� 1 �
I	���2)  �$��"���� NaCl 0.25 ; MgO 1.10 ; KCl 4 ; Ca(H2PO4)2 9 ; FeSO4 0.72; Calcium lactate 0.88 ; ZnSO4 7H2O  0.088 ;
MnSO4 7H2O  0.040 ; CuSO4  5H2O  0.008; CoSO4  0.0025; KI  0.0008
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2.3 ���7C�3�����:�
>��
"I�#	$ �$6
�8
��<�����������
�
� ����5��5������	�� #	$JA%��?�&��65�2��������&�� ��2#�������	��=�� 1 #	$

����������2�5������	�� I����������#""��� 	��
�:��
�2 (satiation) ���	$ 2 2
A� (����-��K�) 
"���C��A%�����������?� 	��
���#��	$��� � B��$�$��	� 8 6� ���� ������9���	��2?����������7
#	$:�����2?�A%�&�	��?���	����	�#	$�%�����9��$����5����:��6�K:6
A������	�� 65�2��������
 	�:%���� 30 ��� / ��
� 100 ���2 �<
���%�& �
����$������ �$��"�����2?=�� 	��2
����
�2���
7C�3� ���$���������	?A�������A%����� 	���#��	$�5������	���5� 2 6� ���� I�����������A%�����
#��	$���A�:$6	" 	�������6	" 2-phenoxyethanol ���2�=�2=�� 0.5 2
		
	
������A%� 1 	
�� #	$����
 	�#��	$�����#��	$�9� �������
�������&{{���7�
�2 2 �%�#����  6�����������
� ��
 #	$������
=�� 	��5���� ���2?������
� ��
:$�%�& ���:��
A� #"��?��?� #	$ �6
�

�2
��6
A�65������	�� �����A%����� 	��5������#��	$�9���	�� ��":%���� 	��?�
��	
� #	$6����������<���2��A�"���C�#	$��K"�������� 	�:���5��9���	���<
���%�2��
����$������
 �$��"�����2?=�� 	���2�
8?2���4��=�� AOAC (1985) #	$�%�=��29	�?�&��2��%����������� � 
&��#�� �A%���������?��<
�2=CA� (weight gain) ���������:�
>��
"I�:%��<�$ (specific growth rate) ���
������ (survival rate)  �$6
�8
��<����������� (feed efficiency) �$6
�8
��<������I ��?� 
(protein efficiency ratio) I ��?��?��%�& ��� �$I���� (productive protein value) (Halver, 1989) 
=�� 	���#��	$�5������	�� :��69������?A

��������� (survival  rate,%)    =  :%���� 	��?���	
�  x 100
                                    :%���� 	���
�2���

�A%���������?��<
�2=CA� (weight  gain)
 =  �A%����� 	�65����� (���2/���) - �A%����� 	���
�2��� (���2/���)

 �$6
�8
��<����������� (feed efficiency)
=         �A%����� 	��?��<
�2=CA� (���2)

                             �A%�����������?� 	��
���A��2� (���2)
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���������:�
>��
"I�:%��<�$ (specific  growth  rate, % ������)
 =      ln W2  - ln W 1 x 100

  t2 -  t 1
W 1 =   �A%������@	?����
�2���
W2  =   �A%������@	?��65�����
 t 1    =  �����
�2����%������	��
 t2    =  ����?�6
A�65������	��

 �$6
�8
��<������I ��?� (protein  efficiency  ratio)
=     �A%����� 	��?��<
�2=CA� (���2)
    �A%�����I ��?��?� 	��
� (���2)

I ��?��?��%�& ��� �$I���� (productive  protein  value)
=   I ��?�=����� 	��?��<
�2=CA� (���2)  x 100
�A%�����I ��?��?� 	��
��	�������	�� (���2)

2.4 ���7C�3� �$6
�8
��<�������I ��?�
7C�3� �$6
�8
��<�������I ��?������ 	� �����
8?������2�?�2?I��2
����&J�� 

(Cr2O3) � B��
��
������� (indicator) �������I����� 	���	���
�������?�2?6����62=��I��2

����&J�� 50% ����	$ 0.5 =���A%���������� �	�� 	���2��"������?�2?6����62=��I��2
����
&J��#	��� B���	� 15 ��� :C���
�2��K"29	 	� I���
8?��	���A%�	�69��5����� ��K"29	�	��:����������
� B���	� 15 ����I2� ��A��?A��
���:���	���7C�3�=�� �<���� (2543) <"����2
����������#�� 	�
����	
��#	���������
����2��C�	%�&6�:$�����	� �$2�� 12 ����I2� #	$ 15 ����I2��	��:�����
����� 	�:$=�"29	���2� �2
����K"��"��229	 	�&��#	��:C��%�& #��#=K�  �$�$��	��������K"29	
 	� �$2�� 30 ��� �<
�����&�����������<?��<�6%����"����
����$�� :����A��%�29	 	��?���K"&��& 
�%�#��� I���
8? lyophilization "�29	 	��?�#���#	��#	$��K"&�����9�#��#=K�:�����:$�
����$�� 
 �
2��I ��?���29	 	���2�
8?���=�� AOAC (1985) �� �
2�� I��2
����&J���������#	$
29	 	� ��2�
8?���=�� Furukawa #	$ Tsukahara (1966)

�%���� �$6
�8
��<�������I ��?� �2
�����I��2
����&J��� B��
��
������� (De 
Silva and Anderson, 1995) I�����62���
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 �$6
�8
��<������� = [ 1x(a, / a) x (b / b,) ] x 100
a  =  � ����JK���6��������������#���
a,  =  � ����JK���6���������29	#���
b  =  � ����JK���I��2
����&J���������#���
b, =  � ����JK���I��2
����&J����29	#���

2.5 ���7C�3�����5�����	
�
�%��������5�������������	�	
� 	�����	
��
����5�������������	�	
� = �A%�����������?� 	��
���A��2� (�.�) x ��������� ("��)

   �A%����� 	��?��<
�2=CA� (�.�)
2.6 ����
����$���5���<�A%�
�
����$���5���<�A%�=���5�JA%����5��5������	���5� 2 6� ���� I���%���������

�A%��������� 	?��������A%�2��
����$��<���2
��������� � &��#��  �5���92
=���A%�I�����
�����I22
�����  ��� pH ���� pH meter   �
2�����J
�:��?�	$	�����A%� ���� DO meter #	$
�
����$����#�2I2��?���2 ��2�
8?���=�� Boyd #	$ Tucker (1992) &�&����  &����� ��2�
8?
���=�� Clesceri #	$��$ (1989)

2.7 ����
����$��=��29	���6�
�

=��29	����:�
>��
"I�     �$6
�8
��<����������� #	$ �$6
�8
��<�������I ��?� �%�2������
�@	?�� #	$�
����$�����2# � ���=��=��29	 (Analysis of Variance) #	$� �?�"��?�"�����2#��
����=������@	?������  Tukey,s  HSD �?��$��"���2��
��2�������	$ 95
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